M e )BT R — I

(z3—he2=yhE)
o HAERESE
ENEE FMAERE (1888) FMAE8E (23848 ) | AAERE (38188
BN 1 7601 / B 1,519 @ / H 2,278 @ / A
ENE2 834 M / H 1,668 @ / H 2,501 M/ H
Er 3 915MH / B 1,830 / H 2,744H / B
ENEA4 991 M / H 1,981 M / B 2971H / H
E5#5 1,065 1 / B 21291 / H 3,194M / H
EXiE 1 571 M / B 1,141 M / B 11,7128 / B
EXE?2 709M / H 1,417 M / B 24251 / B
o EMHE
BHERER BH I=4ES -
FAESIBERER 18K 300M/ H 820 M / H
FMAESIERER 28K 390M / H 820 M / H
FAERERESR 38K 650 @ / H 1,310 / A
FAESBERER 4 8E 1,800 1 / A 2,500 / H

XX S RAEX (184 ) 1 B =11.10M
XHE 1 2 3BREOBICHALTRENSDERENEZTREDELET,

xT0ft, BXANK ERREERNCBANIRETIEONI BYET.




texkBZ (B%E)

MAERE (1388)

FMEERE (2888)

FMAERE (3E88)

ENE1 | B2RME 2,000 M - -

55 3 BB 2,750 M 3,500 [ -

5 4 BB 5,100 M 5,850 M 6,600 M
ENE2 | E28E 2,050 2,900 M -

5 3 Bl 2,800 [ 3,650 @ =

24 R 5,150 A 6,000 M 6,800 F
EN®3 | H2BK 2,150 B ~ -

5 3 BRRE 2,900 @ 3,800 H =

58 4 ERPE 5,250 A 6,150 [ 7,000 A
ENE4 | F2BK 2,200 { - -

% 3 R 3,000 M 4,000 M 2

5 4 BB 5,300 6,300 A 7,250
ENTES | F2ERE 2,300 M - -

28 3 b 3,050 [ 4,100 M =

8 4 ERbE 5,400 M 6,450 [ 7,500 A
EXE1 | B2BE 1,800 [ = =

% 3 ERKE 2550 1 3,100 [ -

58 4 RFE 4,900 @ 5,450 M 6,000 [
ERR2 | F2BK 1,950 [ - -

% 3 B 2,700 [ 3,400 M -

5 4 BB 5,000 A 5,750 [ 6,400 [

MKMEBEEICHV, FARErEBNERET,
= e St A == R EAERE.




